Name: Four digit subtraction (Skill 63)
Four digit subtraction

1) 5664 - 3128 = 11) 6987 - 603 =

2) 4725-524 = 12) 4594 - 2839 =

3) 7277 -2973 = 13) 5753 - 5576 =

4) 4116 - 147 = 14) 4984 - 2740 =

5) 9577 -7530 = 15) 4546 - 975 =

6) 4431 -1557 = 16) 1209 - 324 =

7) 2810-100 = 17) 5568 - 2644 =

8) 2074 -1143 = 18) 3961 - 3690 =

9) 2893-1278 = 19) 6721 - 993 =

10) 3994 - 3417 =

20) 7613 - 2219 =

Answers, fold under: Mark your work when you have finished.

1)
2)
3)
4)
5)

2536
4201
4304
3969
2047

6) 2874
7) 2710
8) 931
9) 1615
10) 577

11) 6384 16) 885
12) 1755 17) 2924
13) 177 18) 271
14) 2244 19) 5728
15) 3571 20) 5394
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